102-1 0000 ooy -obod

niafuln 0000 (%)

T = 210 10 s -
O0oooooo0 &000O0O@OoOoOoooooonO 100
0oo)
2 ggooogo 100 0 0 0 0
3 ooooooooooo 100 0 0 0 0
4 oooooono 100 0 0 0 0
5 goooooooo 100 0 0 0 0
6 ogooooo 100 0 0 0 0
7 goooooo 100 0 0 0 0
8 goooooooo 100 0 0 0 0
9 ooo 100 0 0 0 0
10 gogooogooogoo 100 0 0 0 0
11 oooooo 100 0 0 0 0
12 ogooooooo 0 50 0 50 0
13 gooooooo 100 0 0 0 0
14 gooooooo 100 0 0 0 0
15 000000 100 0 0 0 0
16 ooooooEe) 100 0 0 0 0
17 goooggono 100 0 0 0 0
18 aooo 100 0 0 0 0

pagel



pagel

page2



